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COMMON HALF YEARLY EXAMINATION - 202
Standard - XI| Reg No 2

SARTET Marks: 7
Choose and write the correct answer:

15x1=15
a) Nickel in refined by Mond'’s process \
b) Titanium Is refined by Van - Arkel process
c) Zinc blende in concentrated by froth floatation
d) In the metallurgy of gold, the metal Is reached with dilute sodium chloride soiution

In organic benzene Is
a) borax b) borazole ¢) boric acid d) diborane

I

a) HF b) HCI c) HBr d) HI
Which one has maximum number of unpaired electrons?

a) d! b) d® c) d° d) 410

The Geometry of dsp? hybridisation is

a) limar b) square planar ¢) trigonal bi pyr

The Crystals which a)re%ood gonductors of heat andpeﬁei:":g?\'/ are Al
a) Molecular crystals b) ionic Crystals

c) metallic Crystals d) all of these

. Ea of a reaction is zero the value of rate constant in

a)o b) A c) Fa d) Ea/

Ionic product > K the solution Is

a) Saturated b) UnSaturated c) Super Saturated d) equilibrium

Which one of the following Statement in Correct?

a) Oxidation occurs at cathode b) Reduction Occurs at anode

c) Electrons migrate from anode to cathode :

d) Electrons migrate from Cathode to anode

Which one of the following Is correctly matched?

a) Emulsion - smoke b) Gel - butter ¢) Foam - Mist d) Whipped Cream - Sol
Which of the following compound can be used as anti freeze In automobile radiators?
a) Methanol b) Ethanol c) Neo Pentyl alchol d) ethane - 1,2 diol

The acid which reduces Tollens reagent in
a) benzoic acid b) Salicyclic acid c) acetic acid

Which is called oil of mirbane?
a) Nitromethane b) Aniline c0 Methyl sulicylate d) Nitro benzene
The number of sp2 and Sp°> hybridised carbon In glucose are respectively

a)land4 b) 4 and’'2 c)Sand1 d)1and 5

The polymer use in making blankets (artificial wool) IS
c) PET d) both aandb

a) PAN b) Orlon

d) formic acid

-1I
PART - 1 6x2=12

Answer any six questions. (Q.no.19 is compulsory)
Which type of ores can be concentrated by froth flotation method? Give two

examples for such ones
write the properties of interhalo

gen compounds (any four)
Explain Coordination isomersm with an example
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2 XIl - CHEMISTRY

The rate constant of first order reaction is 1 54 x 10 Y5 ! Find ity haif ifa paHod
What are the varlous process to prevent corrosion?

Write the tests for pheno!
What are called epimers? Give two examples?

Explain Popoff's rule
How Is nylon 66 prepared?

PART - III
Answer any six questions. ( Q.No.31 Is compulsory):
Write the uses of sllicones
[TI(H,0)]*? is coloured Where as [SC(H,0) o)*3 is colorless - Why?
Write a note on Frenkel defect
Derive the relationship between PH and POH .

6x3=1g

What are called Catalytic poisons? Give two examples.
How do you prepare the following @ a) Picric acid b) TNG
CH,COCI+ H, P4 A _NaOM B A, C Identify AB and C.

BaSOT

What are the differences between Hormones and vitamins?
Give one example for
a) tranquiliser b) antihistamin c) artificial sweetening agent

PART -1V
Answer all the Questions. 5x5=25
a) Explain electromagnetic separation (3) -
b) Define gangue and slag (1+1) (OR)
a) Write the uses of borax. (2)
b) Write the action of dil and conc. NaOH on Cl,,. (3)
a) Trnasition metals form complexes - Why? (2)
b) Compare the properties of lanthanoids and actinoids  (3) (OR)
Using VB theory explain the following: a) [Ni (CN)4]2' b) [Fe(CN)6]3'
a) Calculate the number of atoms per unit cell in BCC. (2) 5
b) What are called molecular crystals? Give example. (3) (OR)

a) Derive integrated rate law for zero order reaction. (3)
b) What are the various methods used for coagulation? (2)
How is the following prepared from Phenol?
a) Phenolphthalein b) Salicylic acid ¢) benzene
ta;; [“)’ls'ct:us? the mechanism of Cannizaro’s reaction.
rite Trans esterification.
a) §Q’J con HNO, 213K A o
' con H,S0, {
Identify A and B 473k o
b) What is Libermann nitroso test?
a) Give any six differences between DNA and RNA.
b) What are called antacids? Give an example.

(2+2+1) (OR)

(2+3) (OR)

---------
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